Philosophy 225 -- Symbolic Logic 

Final Examination -- May, 2012
Instructions: Answer all of the following. You may take 90 minutes for the exam. Be sure to mark clearly on the outside of the exam envelope the time that you began the exam, and the time that you completed it. Any extra time will result in your exam score being reduced proportionately (which is not generally a good wager).

Advice: If, contrary to my expectations, you run into time pressure, give priority to getting the derivation in (2) right. Then the derivation in (1). Then the identifications in (3). Finally return to the derivations or interpretations in (3) and, lastly, the proof in (4).

(1) 
(30 points) Derive the last sentence from the first three.

(x)(y)(Fxy v Fyx)
(x)(y)(z)[(Fxy & Fyz)  Fxz]
(x)(y)(Fxy  Fyx)
_________________________
(x)(y)Fxy

(2) 
(30 points) Derive the last sentence from the first four without using rule T.

P(R v –Q)
R  T
P v T
T  –Q
_________
–Q

(3)
(30 points) Clearly identify each of the following as valid, inconsistent, or neither. Support your answer with clearly identified, appropriate derivations or interpretations, as is appropriate. (If you think a sentence is neither, label each interpretation clearly as to whether the sentence is true in that interpretation, or false in it.)
(a) 
(x)(y)Fxy  (u)(v)Fvu
(b) 
(x)(y)Fxy & (u)(v) – Fvu

(c)
(x)[(y)Fxy  (u)(v)Fvu]

(4)
(10 points) Using the completeness result or the soundness result, prove the following. [Hint: it can be proved quite easily.]



Cons()  d-Cons ()
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Have a great summer!
